2 At < e
5| 112 < 7 > RpHERFHL 2RR2 |5 58
1A
NS &% %m0 1 T bl 1 6 NS meE 34y (R0 8
EW 43 Ha2(P0) apie EW #és 2 £ia(R0)
B# | DL | & Py k] MWEE E& 3 R% R A~ COP Datum
1
bl H2%% | NS | EW | 6%=223% | NS | EW | #1 | #6 | #1]| #6| #1 | #6 || Mean | Ns EW
9 N | EW 2SS-2 100 3CW3 110 10 EW110
10 E |Both 3SE4 170 2HS2 110 280 7 EW230 2 -8
11 S [None 5CXS5 550 3NN4 430 120 3 NS200 8 -6
12| W | NS 6CW6 920 3NW6 490 430 10 EW440 -10 2
13 | N [Both 3NW4 630 3NE5 660 30 1 EW530 -3 4
14 E |None 5S8S-1 50 5HXE-2 300 350 8 NS210 -6 -3
15| S NS 4SW5 450 5SXW6 750 300 7 EW490 1 6
16 | W | EW 4SN-1 50 4SN4 420 470 10 NS270 -8 -4
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bl Hre% | NS | EW | ¢%=223% | NS | EW | #2 | #8 |#2 | #8 | #2|#8 || Mean | Ns EW
9 N | EW 3NE3 600 3SS-2 100 500 11 EW110 -10
10 E |Both 4SE4 620 2HS2 110 730 12 EW230 -9 -8
11 S |None 5CS-2 100 5CS5 400 500 11 NS200 -7 -5
12 | W | NS 3NW6 490 3NW5 460 30 1 EW440 -2 1
13 | N |Both 3NE4 630 3NE4 630 EW530 -3 3
14 | E |None S5HXW-2 300 5HXE-2 300 NS210 3 -3
15| S NS 5HS-2 200 4SW5 450 250 6 EWA490 7 -1
16 | W | EW 4SN4 420 5SN-1 50 470 10 NS270 4 8
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1
bl H2%% | NS | EW | ¢%=223% | NS | EW | #3 | #7 |#3 [ #7| #3|#7 || Mean | Ns EW
9 | N | EW 3CwW-1 100 3NE3 600 | 700 12 EW110 5 10
10 | E |Both 4SE4 620 2SE4 170 450 10 EW230 -9 -2
11 | S |None 5CS-1 50 5CS5 400 450 10 NS200 -6 -5
12| W | NS 6CE-1 50 3NwW4 430 480 10 EW440 10
13 | N |Both 2HE3 140 3NE3 600 | 460 10 EW530 9 2
14 | E |None 4HW-1 50 S5HXW-2 300 250 6 NS210 -4 -3
15| S | NS 4SXW5 690 5DN-5 500 190 5 EW490 -5
16 | W | EW 4SN4 420 4SN4 420 NS270 4 -4
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> B INP 32 31
&3+ NP 32 31 .
2 HVP 10.44 9.56
5t




2 S S < e
5| ll2eg<zrrpEmpplerre | 5|
i
NS L&BE #RE(RO0) 4 T bl 4 9 NS spxm #®EP(PC0)
EW mum #E£FC0 a e EW f£xz 1#i(R0)
g# | pL | &5 ol 4 MEz ik REAA | COP Datum
¥l z9zmx [ NS | EW | 25z2% | NS | EW | #4 | #9 | #4 | #9 | #a |#9 || Mean | Ns EW
9 | N|EW| 3cw- 100 3CW3 110 | 210 5 EW110 | 5
10 | E |Both| 3HS-1 100 3SE4 170 | 70 2 EW230 | 4 2
11| S |None|  3NN4 430 3NN4 430 NS200 | 6 6
12| W | NS 3NW5 460 3NW5 460 EW440 | -1 1
13 | N |Both 3NE4 630 2NE4 180 450 10 EW530 | -3 8
14| E |None| 5HXE-2 | 300 5HXW-2 | 300 NS210 | 3 -3
15| S | NS 6CS-2 200 5HS-2 200 EW490 | 7 7
16| W | EW 4SN4 420 4SN4 420 NS270 | 4 -4
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1
B[ 2mzss | NS [ EW | 2525% | NS | EW | #5 | #10 | #5 [#10] #5 [#10|| Mean | Ns | EW
9 | N |EW|[ 3cw- 100 4CcW-2 200 100 3 EW110 | 5 7
10 | E |Both| 3SE5 200 4HXS-2 500 | 300 7 EW230 | 1 7
11| S |None| 6NXN-2 300 5CS-2 100 200 5 NS200 | -11 7
12| W | NS 5CWS5 400 3NE4 430 | 30 1 EW440 | 1
13| N |Both| 3NE4 630 3NE5 660 | 30 1 EW530 | -3 4
14 | E |None|] 5HXE-2 | 300 4HW-1 50 250 6 NS210 | 3 4
15| s | Ns | 5sXxwe 750 5SXW6 750 EW490 | -6 6
16| W | EW 4SN4 420 6CXN-1 100 | 520 11 NS270 | 4 9
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1 NS % w=xr(R0)
EW =@ Hai(F0)

B# | DL | & #% MEZ cME ik REAA | COP Datum
1
bl Hr2% | NS | EW | £x25% | NS | EW | #6 | #1 | #6 | #1 | #6 | #1 Mean | NS EW
9 N | EW 3CW3 110 2SS-2 100 10 EW110
10 E |Both 2HS2 110 3SE4 170 280 7 EW230 8 -2
11 S [None 3NN4 430 5CXS5 550 120 3 NS200 6 -8
12| W | NS 3NW6 490 6CW6 920 430 10 EW440 -2 10
13 | N [Both 3NE5 660 3NW4 630 30 1 EW530 -4 3
14 E |None 5HXE-2 300 5SS-1 50 350 8 NS210 3 6
15| S NS 5SXW6 750 4SW5 450 300 7 EW490 -6 -1
16 | W | EW 4SN4 420 4SN-1 50 470 10 NS270 4 8
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P 2xs8s [ Ns [ EW | 2nagx [ Ns | EW | #8 | #2 | #8 #2 | #8 [#2 || Mean | NS | EW
9 | N |[EW| 3sS-2 100 3NE3 600 | 500 1 EW110 10
10| E |Both| 2HS2 | 110 4SE4 620 | 730 12 EW230 | 8 9
11| S |None| 5CS5 | 400 5CS-2 100 | 500 1 NS200 | 5 7
12| W | NS | 3Nws 460 | 3NWGE 490 | 30 1 EW440 | -1 2
13| N |Both|  3NE4 630 3NE4 630 EW530 | -3 3
14 | E |None| 5HXE2 | 300 5HXW-2 | 300 Ns210 | 3 3
15| s | Ns | 4sws 450 |  5Hs-2 200 250 6 EW490 | 1 7
16 | W | EW |  5SN-1 50 4SN4 | 420 470 10 Ns270 | -8 -4
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B# | DL | & #% MEZ cME ik REAA | COP Datum
1
bl H2u% | NS | EW | ¢%=223% | NS | EW | #7 | #3 |#7 | #3 | #7 | #3 || Mean | Ns EW
9 N | EW 3NE3 600 3CW-1 100 700 12 EW110 -10 -5
10 | E |Both 2SE4 170 4SE4 620 450 10 EW230 2 9
11 | S |None 5CS5 400 5CS-1 50 450 10 NS200 5 6
12| W | NS 3NW4 430 6CE-1 50 480 10 EW440 -10
13 | N |Both 3NE3 600 2HE3 140 460 10 EW530 -2 -9
14 | E |None 5HXW-2 300 4HW-1 50 250 6 NS210 3 4
15| S | NS 5DN-5 500 4SXW5 690 190 5 EW490 5
16 | W | EW 4SN4 420 4SN4 420 NS270 4 -4
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B# | DL | £ % MPE 2HE E& 3 R% R A~ COP Datum
1
i t¥z2% | NS | EW | 2x%3223% | NS | EW | #9 | #4 |#9] #4|#o[#4 || Mean | Ns EW
9 N | EW 3CW3 110 3CW-1 100 210 5 EW110 -5
10 E |Both 3SE4 170 3HS-1 100 70 2 EW230 2 -4
11 S [None 3NN4 430 3NN4 430 NS200 6 -6
12| W | NS 3NW5 460 3NW5 460 EW440 -1 1
13 | N [Both 2NE4 180 3NE4 630 450 10 EW530 8 3
14 E |None 5HXW-2 300 5HXE-2 300 NS210 3 -3
15| S NS 5HS-2 200 6CS-2 200 EW490 7 -7
16 | W | EW 4SN4 420 4SN4 420 NS270 4 -4
@3 IMP[10 | 7 29 | -25
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5 NS meg F5i(R0)

EW 1*#% %L3(R0) EW % & #2 % (F0)
B# | DL | £ % MPE 2HE E& 3 R% R A~ COP Datum
1
R txz 2% | NS | EW | 29223 | NS | EW | #10 | #5 [#10| #5 |#10| #5 Mean NS EW
9 N | EW 4CW-2 200 3CwW-1 100 100 3 EW110 7 -5
10 E |Both 4HXS-2 500 3SE5 200 300 7 EW230 -7 -1
11 S |None 5CS-2 100 6NXN-2 300 200 5 NS200 -7 11
12| W | NS 3NE4 430 5CW5 400 30 1 EW440 -1
13 | N |Both 3NE5 660 3NE4 630 30 1 EW530 -4 3
14 E |None 4HW-1 50 5HXE-2 300 250 6 NS210 -4 -3
15| S NS 5SXW6 750 5SXW6 750 EW490 -6 6
16 | W | EW 6CXN-1 100 4SN4 420 520 11 NS270 -9 -4
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* B IMP 8 26
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B 3VP 4.00 16.00




